EAGRAROBREERT — 2 N— ABISH —F

20205F9R6H (B) 2[E1L1%8H

R EEEXY

REFFI

CES&)

(HEE] B

‘ [R1%] & ‘ [REBB] — | Z (&) 20000 B

[A&4£] 1 7% :5,100,000 2 & :2,000,000 @ 33 :1,300,000 @ 4 3 :770,000 @ 5 % :510,000 A
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
g 4 3 | FARHER 2:01.9 1-1-1-1 | 35.9| 87.8 | 8 422 | RI&FEE (EH)
13| 71TF—77F- 54.0 [ ) "W $5TLy k95T 5747
R:Z27)—->re—0— B:XAXT77714—X EvilLy RT7—L
I N — 4 3 | EEEA 2:01.9 2-2-2-2 |35.7| 87.8 | 1 442 | REMER (F3H)
2 AR ZA 56.0 (74%) 6 | W) ¥-T77-x
RiFA—TANT N BiYy RS J—HrIr—L
NRFSENAN o3 | BmIEE 2:02.1 5-5-4-2 | 35.7| 85.7 | 11 492 | ENIFEZ (RR)
36| EXTAHLAY 56.0 (1 1/4) © | @ FrEsu- 2274
R:TF72TVRZ BEXTVLHFAT Bllikie]
; = S > 3| SlnE— 2:02.2 11-10-6-6 | 35.5| 84.7 | 7 434 | BHE (RR)
41713 =7 RZ2—X - 57:'(:3.0 (v 1) (-a) (A) AL —XK—2X
L:Nn—ErTy— B:d-L7FrOv R () #B8a—-FL—>a>@qE77
N FAFF AR :02. ~7—-6- . . FER (EX)
51714 ZHATFILFY — % 3 5 2(;)2t)2 5-7-6-6 |35.6| 84.7 | 10 24) Ao
LG4 7 hT—EY B:TLYLHTISAX [ia=Eae]
5 : 4 3 | AEHRK 2:02.2 5-6-6-8 |35.6| 84.7 | 2 474 | BEFIER (BX)
6112 TAXT AR 56.0 (74%) ) (B) ¥+By ~T7—~4L
LW—=5—29 T BTV EIHAUT VER WL EIN
- 4 3 | RKLEsAE 2:02.6 8-9-9-9 |35.7| 80.7 | 14 48 | B (EH)
71815 TZXITLRA A51.0 (21/2) -6) f.EEHZ%—;
R:27)—re—A— B:T7=Zv k- BRT77— LA
S S 3 | EEREN 2:02.9 4-4-4-4 | 36.5| 78.0 | 3 472 | EER— (FH)
EE 4| B— K7zO—X 56.0 @) (+4) (%) O—KK—2957
L:IA42>75y2a2 B:T147—F TATAT7—L
S S S 43 | MELgaEL 2:02.9 2-3-3-4 | 36.6| 78.0 | 5 434 | BRA— (3ER)
9|8l16| ¥l rHF 56.0 (74%) (-10) |TATLRNIST ()
L:d—IW Ry T BihALIXET— FATLARNIST
s 4 3 | BEED 2:03.0 13-14-13-12| 35.8 | 76.6 | 13 | 448 |ALHEA (E®)
10 8 ABARIVbH £54.0 (1/2) o) | % #F
R:Z2y7)—>ke—0O— B: X143 K>F BINET 7 — L
2L H B 3 | EHEBZ 2:03.1 14-12-9-9 | 36.2| 75.9 | 6 450 | EIEHTES (RR)
110011 7F—F—NI2T 54.0 (1/2) o | WFR=
LN—YIF4 Biut—4—ITF> RAEHIS
j =2 4 3 | HlEs 2:03.3 12-12-9-9 | 36.4 | 74.0 | 4 460 | BEARA (E5)
12K 5| 7Vv—£L7va [B] 56.0 a0 1/4) g | ) HEL-25-2
R:FA=TA2NN N B:TN—-32TT7L— HET7—L
: i . # 3 | AlE 2:04.2 8-8-9-13 |37.3| 66.2 | 12 | 538 |REAFIA ()
13111 |BRLTZFTLTY 56.0 (5) (+6) I;‘/“I)w—y/ﬁ‘ (*%)
R4 7 bT—ILEY BiNA K12 RS
= S 4 3 | WHEEL 2:04.6 10-10-13-14| 37.4 | 62.6 | 16 | 414 |HOEEFOE (i)
14510 Y71 b9 3T > A51.0 2 1/2) Lo | W) 75T —F-x
LXLGINZN BiEIUT KT i5
-2 3 4 3 | AlEREA 2:13.3 16-16-16-16| 45.4 | 15.6 | 9 500 | LRIEZ (E#)
150012 =¥/ 77 R [B] 56.0 (%41%) () |BEEeT
L:A—-KH+07 B:I77EFXZA L B
2 5 4t 3 | BSAIER - 15-14-15-15| — | — 15 | 418 | RIIARK ()
5y 7| NI—=2a 54.0 (h1k) (-q) | FIERiE
R:g—RKRIIL B4 T -k FEZ %Y K
@ 71 L
) 48.0-35.9
NA> 24 L | 12.9-11.3-12.6-12.5-12.4-12.2-12.1-12.1-11.7-12 1
® I —F—@EBIERL
13—7F— |3(16,9)4(2,6,14) (1,15)10,13,5,8,11,7-12
2= = 3,9,16,4,6,2,14,1,15(10,13) (5,11) (8,7)-12
Fol=5r= 3,9,16(4,6) (2,14,13) (1,15,5,11) (10,8) 7-12
40—+ — 3(9,6) (16,4) (14,13)2(15,5,11)8,1,10-7=12
[ N3
BB 3 1,690 714K 3-9 990M e E 2-5 850M JEHE 3-6-9 34,310
18 B 3 380H 3-6 8,700 B = 3-9 3,650M K31 3-9-6 165,480H
9 190M 6-9 3,600/ B H 3-9 7,830
6 1,190

ABRICOVTHRTEEERROODE, THEB LS,




